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el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 A& HIZ 201 I 130,000 30,000 100,000
01 A& HI 130,000 30,000 100,000

Ogus HNIE=HE =4 120,000
oY= HIE=SE JIsEZ 10,000
402 RI2FX=201 M 235,000 175,000 60,000
01 RIZEAI=2E X 235,000 175,000 60,000
OMUBEAOIEZE JIsES 25,000
OENOEEE JIsE2Z 25,000
O2sSHIE=E JlsE22 25,000
Oz=A ¢& d3=Z= ANOESYH 4= 60,000
Ool#el HOE=EE JIsE2d 25,000
Ok =23NH0E=2E JIsEZ 25,000
O&s SIH0E=2E JIsES 25,000
Ol AMLAHNOIEEE JIsEH 25,000
Ao 23TRIHR 2 (SX) 45,336 51,840 ~6,504
< 11,334
Al 34,002
307 21201 A 45,336 51,840 26,504
< 11,334
Al 34,002
10 A3l =S X2 = 45,336 51,840 26,504
OAlZ ol s g4dst XN& 45,336
< 11,334
Al 34,002
= H3(EX) 25,018,097 17,209,854 7,808,243
= 24,474,284
< 543,813
301 gt d= 25,018,097 0 25,018,097
= 24,474,284
< 543,813
01 MEI2EZE 6= 25,018,097 0 25,018,097
OJIxz A3X 2 25,018,097
= 24,474,284
< 543,813

229 29 & 69,000 920,780 A 851,780
307 glz2tol & 69,000 920,780 A 851,780
10 A3l =X 2 X 69,000 920,780 A 851,780

OZeY O8-& 2Z4l X2 (23M2) 69,000
MEd D&E3 HH(Ex) 15,625 17,500 21,875
< 4,406
Al 11,219
307 21201 A 15,625 17,500 21,875
< 4,406




AN GEIEY
HH: Lol =X EA
Sl =EME X8 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 11,219
02 BInHFAEXS 10,000 10,000 0
OO0t0IED E2HE N2 228 29 10,000
S 3,000
Al 7,000
10 AtEI =X 2 X 5,625 7,500 AN1,875
O=s0t88 X=(23Y) 5,625
< 1,406
Al 4,219
Lo=E2 29 460,000 456,560 3,440
307 glz2tol & 430,000 456,560 A 26,560
05 RIZt2E = 430,000 400,000 30,000
Ookesia 524l XA 430,000
401 AIEHIZL 2CHYI 30,000 0 30,000
01 A& Hl 30,000 0 30,000
OLo=Xa JIs2(M2HED 84X L W
282) 30,000
CosExa 28 NJA(BX) 56,920 0 56,920
< 14,076
Al 42,844
307 21201 A 56,920 0 56,920
< 14,076
Al 42,844
10 AFRISXIEX 56,920 0 56,920
Oke=sXa SAX S8 16,920
< 5,076
Al 11,844
OLQEd 2sHY MHIA 22lA 20,000
< 6,000
Al 14,000
O =Xz gAHEZ2Od2E & 20,000
< 3,000
Al 17,000
COIAMRIEHON XIS 45,000 22,000 23,000
307 21201 A 45,000 22,000 23,000
02 RIZHEAMNE XS 45,000 22,000 23,000
Ofst-elsl §&AIXE 29 XA 22,000
Okl s8s 23 gd3t N2 23,000
22 224 S XN(EX) 920,780 0 920,780
= 403,065
= 184,156
Al 333,559
301 e A= 920,780 0 920,780
& 403,065
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W O

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

286,780
,089,564
1,895,979

= M [
w

LOSSAMEIA(RE) 907,202 823,200 84,002

635,040
108,865
163,297

= Hn

307 21201 A 907,202 823,200 84,002

635,040
108,865
163,297

= Hn W

S 907,202 823,200 84,002
Oko=s8 SEAMEIA AHY 907,202
635,040

108,865
163,297

= MW

WOt SXAIE X (2X) 1,649,608 2,341,436 A 691,828
286,780
176,241

1,186,587

= H AL

301 LEE A 1,463,208 0 1,463,208
263,380
146,321

1,053,507

= M AL

01 MI2ZHE 6= 1,463,208 0 1,463,208
SNANE(BINLEERLZ) 1,463,208
263,380
146,321
1,053,507

= H M

307 21201 A 186,400 2,341,436 A2,155,036
23,400
29,920
133,080

= M H

22X 186,400 2,341,436 A2,155,036
ASXAE X& 130,000

23,400
13,000
93,600
OMIt A SXAE SAX SE=E 9,600
2,880
6,720
OLQHOoIAALE 2L (2HA) 46,800
14,040
32,760

Z HH

= M

= M

ClMEtAlE JIsEBZAMY 28,560 0 28,560

t2 0l ™ 28,560 0 28,560

X
01 I2tXt=28 =X 28,560 0 28,560
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S moEXAL 29 EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Og3ae=sidH JIs2Z 10,000
Os=E=EX0s JIs2z 5,000
OXielat- ST HH AHAIE £X 13,560
COIMEAIE JISEBAAMS(BEX 164,000 647,360 A 483,360
= 82,000
< 24,600
Al 57,400
402 RI2EXt20l ™ 164,000 647,360 A 483,360
= 82,000
< 24,600
Al 57,400
01 QIZEAI 22X 164,000 647,360 A 483,360
OLQ=STAE JIsEZAMS(HAHE =9 59,000
= 29,500
< 8,850
Al 20,650
OLQSXAE JISELAS(ZMHE) 30,000
= 15,000
< 4,500
Al 10,500
OLQ=XAE JIsEZAMS(ELHYE) 75,000
= 37,500
= 11,250
Al 26,250
COIMEANL 22 X (EX) 3,239,993 4,380,300 A 1,140,307
< 2,779,858
Al 460,135
301 et d = 2,236,393 0 2,236,393
< 2,012,178
Al 224,215
01 MEI2EZE 05z 2,236,393 0 2,236,393
OLQMEANE NA(RINLEERES 2,236,393
< 2,012,178
Al 224,215
307 glz2+ol & 1,003,600 4,380,300 A 3,376,700
< 767,680
Al 235,920
10 A3l S X2 = 1,003,600 4,380,300 A 3,376,700
OoldaAd X3 778,000
< 700,000
Al 78,000
OLQMEANLSAR SESE 225,600
< 67,680
Al 157,920
Lolotd & HAZS&ALA M2 865,359 668,488 196,871
= 322,078
J| 16,030
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 141,675
< 129,707
Al 255,869
LoHAEEH(ER) 12,128 12,128 0
& 4,245
< 1,819
Al 6,064
307 glz2+ol & 12,128 12,128 0
& 4,245
< 1,819
Al 6,064
01 922724l 12,128 12,128 0
OLolH 2 & (275 ) 12,128
=2 4,245
< 1,819
Al 6,064
LolssEMHIA 57,000 400,060 A 343,060
101 @124l 54,000 366,560 A 312,560
04 JIZHHZ2Z2XNSE+ 54,000 366,560 A 312,560
Ookolss sl 100,000& »45H «12& 54,000
201 Let24E] 3,000 3,500 A 500
01 At 22l 3,000 3,500 A 500
OZglEI=se 29 3,000
HB0lE A 6,000 0 6,000
307 glz2+ol & 6,000 0 6,000
04 QIZIHAIE R S 6,000 0 6,000
OXMl422] Ol & At 6,000
NAS THOtC- QA AANE (B X) 207,360 172,800 34,560
= 103,680
< 51,840
Al 51,840
307 21201 A 207,360 172,800 34,560
= 103,680
< 51,840
Al 51,840
10 A2l =S X2 X 207,360 172,800 34,560
OMAS MIL=QAA B (SXH) 108,000
& 54,000
< 27,000
Al 27,000
OMAS MIt=QAAL HHE(EHXY) 99,360
= 49,680
< 24,840
Al 24,840
LEIZRAL(ER) 67,500 67,500 0
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CHE - EI(BA) - NRAY - BYS

Off &t 24

=
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2m

= N[

33,750
16,875
16,875

307 glztol &

= M [

67,500
33,750
16,875
16,875

67,500

= H M

67,500

67,500
33,750
16,875
16,875

67,500

L
=

elol & At

10,000

10,000

10,000

10,000

10,000
10,000

10,000

Il
Al

32,060

16,030
16,030

32,060

Jl|
Al

9,560

4,780
4,780

9,560

o
Al

9,560

9,560

4,780
4,780

9,560

Il
Al

6,000

3,000
3,000

6,000

Il
Al

6,000
6,000

3,000
3,000

6,000

401 AIEHIZ 2 I

Jl
Al

16,500

8,250
8,250

16,500

01 A& HI

OsiHkesset

[Pl
4N

ANAE X

16,500
16,500

8,250
8,250

16,500

[
et

olES JIEMtlA M (EX)

460,111
322,078
55,213
82,820

460,111

460,111

460,111
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3y &
L
=

& LoletA Z2S T A WD (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 322,078
< 55,213
Al 82,820
04 JI2ZtHZ22HEE = 460,111 0 460,111
OSIIIbAE MHIA AFY 14,111
= 9,878
< 1,693
Al 2,540
Okoss JI2MEIA(459) 407,070
= 284,949
< 48,848
Al 73,273
OkelEs JI2MHA (bl 38,930
= 27,251
< 4,672
Al 7,007
HEEHLO BHBX)| NIAANG(EX) 13,200 0 13,200
< 3,960
Al 9,240
307 gl2tol & 13,200 0 13,200
< 3,960
Al 9,240
10 A2l =S X2 X 13,200 0 13,200
ONs=sEL BEHEXI| X 13,200
< 3,960
Al 9,240
ANE BEES =4 298,937 961,268 A 662,331
ZALAIE 298,937 961,268 A 662,331
101 @14 Hl 46,365 15,208 31,157
04 JIZHHZ2XREES 46,365 15,208 31,157
St Y2 2 F=H H=E URY
60,5403 x5H 43| 1,211
Osstd 2elg=Ry 39,100
O382A fHIE Mxz&Y o2 6,054
201 Yet2 | 90,412 92,300 A 1,838
01 At 22/l 17,400 17,900 A 500
Os&std 22X 1=l 180,000 x5H »23] 1,800
Osstd LAl 50,0003 2 «116< 11,600
Osstd - st 29 4,000
02 2324l 73,012 74,400 A 1,388
Os=td AIE&H |X2c 35,000
Odl= s3tg deldiole 2el
251,000& 128 3,012
O332= % HAl 35,000
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¥ Lol =X 53
el A[E B2 |4 (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 60,000 51,600 8,400
01 =4l 60,000 51,600 8,400
Oss& Jta 2l 5,000,000& =123 60,000
307 21201 A 2,160 2,160 0
05 RIZt2IEt = 2,160 2,160 0
OL#Al 38 S31gy A 2B
90,000 * 12 «204 & 2,160
401 AIEHI L 2] 100,000 800,000 A700,000
01 A& HI 99,100 800,000 700,900
Sod Y2 SZH 99,100
03 A& 2 THHI 900 0 900
Ossty MYz &2 900
HE2HZHI 92,522 93,216 A 694
ol 2 gl 26,832 25,026 1,806
ol 2AH| 26,832 25,026 1,806
101 @124 dl 26,832 25,026 1,806
03 RIAHAZ 2B+ 26,832 25,026 1,806
OYREX(HA=ZSME 1Y) 26,832
L JlEs 1,088,890& »1& 123 13,067
a2 13,066,680 / 12& »400% 4,356
ws2 120,000 x1H 122 1,440
& Mz AlH| 130,000& x1H «12& 1,560
NEEE RS
6,861 «15A| 2k«1. 58 «12& 1,853
HESIOHI(E,F=4)
1,088,890& 1 x120% 1,307
] 1,140
A OFE & Y| 54,8883 «1H x102 549
LRI, 221, HEH2, A1) 1,560
=3t 65,690 68,190 A 2,500
JlE2&l 65,690 68,190 A2,500
201 et 23,490 23,490 0
01 At 22l 22,490 21,490 1,000
O&EII=L =2l 5,000
Oget=gH| 17,490
02 =224l 1,000 2,000 A 1,000
O=2Z223<LHA 1,000
202 04l 35,000 35,000 0
01 S LHOYI 35,000 35,000 0
O=U o bl 35,000
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A OIS

ol HY2 YA

ool J|= A (o9 ®8)
2A-F3H-H2A(3) - MY - BES Ofl & oH ﬁlgi Hns2Z
203 &R =X Y| 4,200 4,200 0
04 BN2IARETY| 4,200 4,200 0
ORN2IAL=TY| 350,0002! * 122 4,200
405 Xtk S| 3,000 5,500 A2,500
01 ML SZH S| 3,000 5,500 2,500
OMNRA2Y X7 250,000 *1274 3,000
Hess 70,000 70,000 0
WEHAK = 70,000 70,000 0
2 53 70,000 70,000 0
702 012HE3 70,000 70,000 0
01 JIBHE 70,000 70,000 0
O HESIIZ2 M523 50,000
O HAdMPXAINS HE2 20,000
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